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1. BERBOR
(1) #BHEUNE
REZRAZE 27,500 0 22,500 50,000
BEPREZRAR 11,000 0 9,000 20,000
NEJ=E-3:E3 - 419,100 0 342,900 762,000
BB ZNEE 198,000 0 162,000 360,000
BRI 1,756,292 0 0 1,756,292
SWEME 3,344,000 0 836,000 4,180,000
BEUNRET 5,755,892 0 1,372,400 7,128,292
2 BEEHR
ORE-+ 3
1EEH 2,539,236 0 0 2,539,236
HER 289,562 0 0 289,562
EERRE 716,121 0 0 716,121
REXBEE 1,128,604 0 0 1,128,604
BIEE 2,430 0 0 2,430
BiEE 87,500 0 0 87,500
MEE 300,825 0 0 300,825
HELRE 232,756 0 0 232,756
EE 18,799 0 0 18,799
XIFHH 5,374 0 0 5374
=R 1,017,637 0 0 1,017,637
RiE 200,000 0 0 200,000
HE 71,795 0 0 71,795
BAHEENE 70,223 0 0 70,223
Q@ EBRE
WRERXBE 0 0 10,650 10,650
BIEE 0 0 244 471 244,471
=p=a 0 0 330,000 330,000
HEMRE 0 0 204,248 204,248
B AR 0 0 4,600 4,600
XILFHH 0 0 3,441 3,441
&M 0 0 180,000 180,000
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EERAE 0 0 1,087 1,087
HE 0 0 113,264 113,264
AR F 0 0 55,000 55,000
BEERE 6,680,862 0 1,146,761 7,827,623
LHEARREISREE A 924,970 0 225,639 A 699,331
2. BENEBDOE
(1) #BEUNE
MEUNZE 310,000 0 0 310,000
ZEF R 0 88 88
BEEMINEEET 310,000 88 310,088
2 BENER
BENERE 0 0 0 0
L BRI R AV 18R AE 310,000 0 88 310,088
oA B — A% IE kB EE 1SR AT A 614,970 0 225,727 A 389,243
EANTRE 0 0 0 0
L HA— A% IE bR BA EE 1R A 614,970 0 225,727 A 389,243
—RIEREAESE RS A 9,054,004 0 14,093,059 5,039,055
— AR IEREAERAR RS A 9,668,974 0 14,318,786 4,649,812
I 1587 IERKEAEEIE B D ER 0 0 0 0
I IERREAEEARES A 9,668,974 0 14,318,786 4,649,812




